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Example 1 = Solve the equation.
— Check your solution.
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Example #2 - Find the LCD of the

rational expressions in the equation. \i")

g’:)(x%9+ 7= 2x1+4- 0) ﬁ + 3_ z é:‘)

0 2 e 4 () 2 e L
_\‘M+ ) -1 X

oxz _ Hy-sYox

TGk = x-3
G2 O e Yy -Gk

%(1-5)(-— 1-7)

7))(1 !ax “J

W—W“)-O
H(yr24+N=0
’%)(_Dhﬂ -0

(- |

Continue to Solve the equation and
check your solution.
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Continue to Solve the equation
and check your solution.
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Continue to Solve the equation and
check your solution.
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HOMEWORK........

o12.7 Worksheet
O #1-18;skip 8,15,16,17
O Hint... #5 & #2- one

of the two solutions do
not “check”
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